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Mental Ability
Language : English Language : Hindi
# Questions OPT A OPTB OPTC OPTD Questions OPT A OPTB OPTC OPTD Ans
1{Which group of letters is the odd one out? DFGI PRSU CEFH HJKN FTH FT DleT-AT Tog Y 37691 87 DFGI PRSU CEFH HJKN D
CEFH HJKN PRSU DFGI CEFH HJKN PRSU DFGI
2|What numbers should replace the question marks? 88 82 72 73 TRATTI RIeg & TATT TR Hid T 37 3T 88 82 72 73 A
100, 95, ?, 79, 68, 55, 40, 23
100, 95, ?, 79, 68, 55, 40, 23
3|What number should replace the question mark? 6 5 4 7 URATTI RIeg & TATT T il TT 37 37Tl 6 5 4 7 A
aIfgT?
7 5 13
9|1 3|6 4 |1 2| 6 19| ? |11
2 1 5
4|M is son of P, Q is the grand-daughter of O, who is the husband of P. How is Son Daughter Mother Father M, P SeT g, Q, 0 %r N g, S P 19 2l Eral Era AT rar A
M related to O? M, O ¥ T YR Teferd 872
5|Select the related word/number from the given alternatives: PRHR PRJQ RPJB RZWR T 31T faehedl F ¥ AT Uee/TTIT HT TIA PRHR PRJQ RPJB RZWR A
F:
CLOSE : DNRWJ : : OPEN:
CLOSE : DNRWJ : : OPEN :
6|Select the word which can be formed from the word. DIALECT LIMITED DIAMETER DICTATE 39 TG HT TTA L SN UG H FATAT ST FehedT DIALECT LIMITED DIAMETER DICTATE B
gl
IMMEDIATELY
IMMEDIATELY
7|If in a code GONE is written as ILPB then how may CRIB be written in that EUKY EKUY EYUK EOKY gfe Rt Ars & GONE I ILPB & ®9 & fer@r EUKY EKUY EYUK EOKY D
code? ST &t 39 @i  CRIB &1 & forg@r s
ThaT 72
8|Find the related shape from the given options. 8T 7T faehedl & & FaTerd 3ThId AT HhitiT| B
P e K a a K a a a K 3
[ 3 oe E J
3 @) ?
. L] e ! D ® O K €) ® O K
sl 19 D K A a O K A a O
A B D
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true even if they seem to be at variance with commonly known facts. Read
all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding the commonly known facts.

Statements : Each plant is grass. No green is tree. Every grass are green.
Conclusions : |. No grass is tree. |l. Some green are plant.

FUAT I T AT &, Al &1 I THAGAT: A1
T I et Ui gl 81| Ty fysapst &y 9
3R R a A o Rju arw st 7 @ i ar
HHAT AT TLAT FT ASR3ETST I §T 6T
91T AT T cAlTeheh TG Y T Il B

FYA : YIS WM I &I P T IS TG ]I W
g Bl
sy : | P amAs AT 81 1. FE R A

9|The number of squares in the given figure is 7 8 9 10 & Il 3T A it hr Fer g 7 8 9 10
10|Select the cube that can be formed by folding the given sheet along the lines. Only D OnlyAand C Only C and D Only B 3 el T IJA L SN &7 15 e Y 3@ F Fad D Fael A AR C Fgel C 3D Fded B
FIfEer FSHT FATAT ST Fehell B
1
2| 6
53
4
2 6 2 1
5 5 6 6
6 1 3 4
A B C D
11|Three different positions of the same dice are shown. Find the number on the 5 2 1 6 Teh €1 9T T cfief 3rereT-3rereT REUfaa femmdy 5 2 1 6
face opposite to the face showing'3'. TS g2ifa arel B & R{uda $T W
HEAT A9 HST
12|Direction : In the question below, there are three statements followed by two |Only conclusion | follows|  Only conclusion II Both | and Il follow Neither I nor Il follows  [far&er : 1= faw 91w et 3 it et AR 38 | Farel TSRy | 3701 | el forsehd 1l 367eRoT | 1 30 11 el 31e7eroT A ARAL
conclusions numbered | and 1. You have to take the given statements to be follows a1e; & sy | 3R 1| fgw arw ) 3ot e ate FIATR FIATR WIE ITEROT T &

13

Which of the following diagram indicates the relationship between liquids,
metals and gases?

OO0

rafaf@d & ¥ #l 1 3ma fofFasa,
Aeew AR AGT & S Geer g2 &2

OO0

14|f L=+, M=- N=x, P=+then5N5P5L5M5=" 5 0 10 15 g L=+, M=-N=x,P=+a@¥5N5P5L 5 0 10 15
5M5="7?
15[Select the odd word from the given alternatives. Veranda Cabin Room Chamber T 31T fashedt & & AW 2Use, T TI Y| Lo HifeeT & Sy
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Statement : In a T20 match played between India and South Africa, the total
runs made by the Indian team were 300. 200 runs out of 300 runs were
made by spinners.

Conclusion | : 80% of the team consists of spinners

Conclusion Il : The opening batsmen were spinners

Y H gTelel M|

FY : R X GTRTOT 37hTeRT & o Wet aTw
Teh T20 39 &, HRCAT EH SIRT 1T 1T ool
T 300 A1 300 H § 200 IoT FEURT ganT &ATC
ELu]|

sy 1 : 80% &A A e §

s 11 : E3el Foaars oo &

16|If the symbols '+' and '-' are interchanged and also 'x' and '+' are interchanged 187 190 185 189 T gies '+ 3R - 1 39 & deol 18T Siar 187 190 185 189
then what will be the value of the given equation? & 31T x 3+ @y ot 39w F seer e Srar
g, ar few arw TefiersoT T AT T gem?
124 +12x6-21+3="7
124 +12x6-21+3="7
17|Directions: Read the given statement, followed by two conclusions 1 and Il | Only Conclusion | is true |Only Conclusion Il is true|Both Conclusion | and Il [Neither Conclusion | nor |fa&er: few 317 &2ret &1 U8, 38 ai &l oisehy | haol oY | TcT & Fad Y 1 T g [Aery 1 3R [ ot & 7 oY sy | iR T &Y
and select the correct answer which would logically follow the statement. are true Il'is true 1 3R 11 o AR T 3R ?_I’?I' S YA T dATfcheh Nacag

N

X

18[Which figure must be placed in place of question mark? e et & TATA W el AT 37 oI ATRU?
< Y6 ®
= O
A B C D E @)
19[Find out the alternative figure which contains figure (X) as its part. 3T Jhiodh 3Thid B ATd HISTT ToTada
T (X) T & & 3 e &1

20

A square sheet of paper has been folded and punched as shown below. How
will it appear when opened?

_‘_

TS T Teh AIhIX 2NC T AT [S@TT 3TTaR
Fres AR g R I & | @eley W g Har
fe@ns gam?

Rarerelt g2

21|Many business offices are located in buildings having 2-8 floors. If a building | 2nd floors do not have 7th floors have lifts Only floors above the All floors may be &g ST HATorg 2-8 HiSTel ATell SHR A | G@RT AfoTel W foite g1 | 731 Hiolel W fove & [shefel el AfoTel & 3R | Tl AfTell doh fovre
has more than 3 floors, it has a lift. If the above statements are true, which of lifts 3rd floors have lifts reached by lifts g gl !Jﬁ: R sART & 3 AfGer @ 318w g AT R ore g | garr g T ST Heell 3
the following must be true? %’ Fﬁmﬁ'ﬁi’@?ﬁﬁl Ife IWiTd HIT T
g, o ReAfaf@d & 9 Sl a1 e gl Urige?
22[1f the map shows North on the top, where is the South? Top Bottom Left Right T AT 3o 1 MY R fe@rer &, ot graror IW A Eing By
&l 87
23(If 3 apples cost Rs. 6, how much would 5 apples cost? Rs. 8 Rs. 10 Rs. 12 Rs. 15 Ife 3 AT HT HIAT Rs. 6 §, 5 Q& T HrAd Rs. 8 Rs. 10 Rs. 12 Rs. 15
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many letters (in both forward and backward direction) in between as they
have in English alphabet series?

ToreTen ey 3 Sy & 378w ¥ (3T 3R ey et
Reremait %) forcieY 3RS aUTATET e g 2

24(The school has organized a field trip to the nearby forest, and the students A packed lunch and a A heavy coat and A swimsuit and a towel |A handheld video game |¥eel =¥ U & 9Tl & Ueh thios feq b1 YT AN TE [T FRvtE i e | shad RIS av s | 787 oRa & fav
will be spending the day learning about the local flora and fauna. Which of refillable water bottle. gloves for warmth. for a swim in the lake. to pass the time. TS R &, 3R or Ty gereataal | Rithel el A1edr dreft 1 3R gEa= Feaarge 3N e difor| | o g1 3 gehsa A
the following should the students bring with them? 3R Sfrat & e & draer 7 et foareet| ot Srder| difsar A
FI TFATI AT 7 & FIT 39T TTY 1= AgT?
25|Analogous to "Fish is to Water as Bird is to "? Sky Nest Sand Tree AT BT TEET U1 F & AR 98T 1 Taer 3TeRTA aiqer T I3
. . § 4
26(Select the related numbers from the given alternatives. 22 19 34 18 T 910 fashedl 7 & AT I3 T Tl 22 19 34 18
Eayl
667 :29::437:7
667 :29::437 :7?
27|Find out the correct answer figure that should come next in the sequence of SHEGEGIEEIENENEN
given figures. 3TRTCrT & 3Tl H TSl e AME T
28|Choose the one which is different from others. 4 12 2 16 SR ol S 3T A (e B 4 12 2 16
4,12,2,16 4,12,2,16
29(Choose the odd figure. A B C D T 3TRIC T Tg= | A B C D
A B C D
30[Select the related word/number from the given alternatives: Grape Tomato Carrot Pear T 91T faehedl F ¥ T Uee/TTIT HT TIF Grape Tomato Carrot Pear
HIfaT:
"Apple, Orange, Banana,
"Apple, Orange, Banana,
31|Which of the following pairs match? 123 Main Street, New 123 Main Street, 123 Main Street, New 123 Main Street, Ffaf@d & @ Sl 1 SeT Ad Qrar 872 123 A TGIE, 3 ool | 123 A Tie, #as AR | 123 A Fie, 715 feeen | 123 A ®ie, Ass
Delhi & 456 EIm Mumbai & 456 Elm Delhi & 456 EIm Mumbai & 456 EIm 3R 456 Elm e, 7 |456 EIm Tawg, 18 feelt | 31R 456 Elm wawy, 58 | 31K 456 Eim wdey,
Address 1: 123 Main Street, New Delhi Avenue, New Delhi Avenue, New Delhi Avenue, Mumbai Avenue, Mumbai 9dr 1: 123 A« Fe, Héﬁ?oﬁ 2 3
Address 2: 456 EIm Avenue, Mumbai YT 2: 456 Elm Tdwg, sgas"
32(Smriti walks 30m towards south, then turning to her right she walks 30m, 20 mtr 30 mtr 50 mtr 60 mtr THTT 30 HeT STayor 7 3R Toldl &, T 319=T 20 mtr 30 mtr 50 mtr 60 mtr
then turning to her left, she walks 20m, again she tumns to her left and walks m%&ﬁTﬁW 30 FHiex eI &, TR 319el 1S
30m. How far is she from her initial position? 3R A 20 HeT ol &, T F ag 39
a1 3N el & 3R 30 e Tereh &1 o 3
yR Ut & frae g3 82
33|What is 30% of 150? 45 50 55 60 150 ST 30% FIT &7 45 50 55 60
34|How many pair of letters are there in the word “EFFECTIVE” which has as One Two Three Four 91sg "EFFECTIVE" 7 U8 Tohclel 318N oA & & ar GIGH IR
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35|Direction : In the question below are given three statements followed by Only Conclusion | Only Conclusion |1 Only Conclusion Il Both Conclusion Il and |f@&sr : & QU 31T 21 7 et et 3R 385 Facl Ty | T Fhael fhY gfaca | e forseny 111 3rgeRor | et ferseny 1130 111
three conclusions 1, I, and Ill. You have to take the given statements to be follows follows follows Il follow ae; offet sy |, 11 31 111 few arw 1 3moent BT T & BT T & FIATR ITTEROT A &
true even if they seem to be at variance from commonly known facts, Read few T AT Y T ATAAT A C R 3‘
all the given conclusions and then decide which of the following conclusions WA AT T2 et gl gt g, fow
logically follows from the given statements disregarding commonly known 1T Tl foserst Y 9 31X e Aot o f
facts. feafaf@d & & i a1 fashy araegd:

LT & IUET F T [T T FUAT &l Arfeheh
Statements : Some Glass are Cup. Only a few Cup are Plate. Only Plate is WQ?B-IHO'\HTUTEETHT%I
Bottle.
Conclusions : |. All Glass are Plate. 1l. Some Cup are not Bottles. FYA : gﬁﬁﬁf&l‘maﬂ%l el FS & FY Tl
Ill. Some Cup are not Plates. HEEEACHEIGCES
fassnd : | welt Rremar e €1 1. o &9 stder
G|

36/(In the following question, which one set of letters when sequentially placed at dfcec dfece cfede cdfed At I &, ded waﬁa o1 HHg &Y dfcec dfece cfede cdfed
the gaps in the given letter series shall complete it? IS e WIS 7 N T R FAF &I F
cecdfdf T ST T 5 M2

cecdfdf

37|If all the vowels are arranged in alphabetical order from left to right and after T L G 0 e w8l TR T aTC A ET0 Irewhafeehol 3T T L G o
that, all the consonants are arranged in alphabetical order from left to right of ﬁr‘a:aﬁu?r T STaT & 3R 39+ a1, Tl
the word ‘ALONGWITH’, then which letter is fourth from the right end? SSTAT Y 'ALONGWITH' 2IsE & &TT H g0

HoHISTEshel 3T H egareYd o Sirem €, ar
&1 Bk & Tty deT Sl a1 §?

38|Find the value (?) in the given figure. 21 25 50 60 EEIES 3*11?(_% AT (?) AT IS 21 25 50 60

39(Your mother is 4 years younger than your father and your father is 6 times 36 years 34 years 28 years 32 years JTIRRT AT 39S AT & 4 a9 ST § 3R 3Ih 36 ay 34 ay 28 a¥ 32a¥
older than you. If you are 6 years old, what is your mother's age? e 3 6 e a3 El A T 6 A F E, A

JTOhT AT T 3G FT §72

40|Write the following in the correct order. 2,4,51,3 2,4,1,5,3 2,4,3,5,1 2,4,5,3,1 AT Y TET e A [T 2,4,51,3 2,4,1,5,3 2,4,3,5,1 2,4,5,3,1
1. Yarn 2. Plant 3. Sari 4. Cotton 5. Clothing 1.Yarn 2. Plant 3. Sari 4. Cotton 5. Clothing

41[Identify the image that completes the given pattern. 39 B1d T TgdTel X off 16U T Ut T I

FIAT B
|

42|Select the related words from the given alternatives. Cow : Calf Dog : Kitten Sheep : Goat Man : Woman T 31T fashedl F & TS Qe T T A | I : Jo3T el : foreelt o1 e AT FRT 9o : &l
Lion : Cub N : ATH

43(ldentify the odd one out. Square Circle Rectangle Triangle A9 &l Igami | Eo ER g EEc]
Square, Circle, Rectangle, Triangle. H?TELHHI'&H?:TSF
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441 $ represents addition, * represents subtraction, and # represents 35 15 0 11 gfe $ s 1 cATar g, * erd 1 caTar g, 3K 35 15 0 11 C
multiplication, what is the result of 5$3*2#47? # 3[OT 1 SRATCT B, A 5$3*2#4 T TROTH a1
g7
45[If it is Sunday on the 2nd of a month, then what day will it be on the 31st of Tuesday Saturday Friday Monday e forell AT T 2 IRIG & TAAR g, Y 34Y HIGAR HIGERY Yehar AHIR D
the same month? A $r 31 A FT T IT fe T gem?
46|If ‘Aman’ = 4, ‘Shivam’ = 6, ‘Science’ =7, Then ‘Bhim’ = ? 4 3 6 5 T ‘Aman’ = 4, ‘Shivam’ = 6, ‘Science’ = 7, @l ‘Bhim’ 3 4 3 6 5 A
47[1f "123"is coded as "321", and "456" as "654", how would 789" be coded? 897 987 678 789 afs 123" @ "321" 3R "456" 1 654" F &9 897 987 678 789 B
# Fifsd frar Sar g, dF "789" &I H¥ FIfsd
TR STTaTr?
48|Which number comes next in the series? 24 32 128 256 TR & 30T HleT T AR 37T &2 24 32 128 256 B
2,4,8, 16, ? 2,4,8, 16, ?
49|What is the result of 25 multiplied by 4, divided by 2, plus 77 57 67 77 87 251 4 T IO XA W, 2 § #1097 &1 R, ST 7 57 67 77 87 A
3TeT O AT RO YTed 2T 872
50]If all apples are fruits and some fruits are red, what can we conclude? All red things are apples All apples are red Some red things are | All red things are fruits |'afe @l a9 ®al g 3R g &l oflel &, af g8 T o aEqU AT IR ERICES FO A TIUATE | HfY ATl TEIT el & [®
apples FT TSRy feehTer Thdl &7
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